LONG BEACH PUBLIC SCHOOLS Long Beach, NY

June 8, 2020

Ladies and Gentlemen:

The Long Beach Board of Education is the authorized state agency responsible for setting educational policy in the district. It consists of five trustees, each serving a three-year term. Board members pay school taxes at the regular rate and receive no salary or other financial compensation.

All meetings, except executive sessions, are held before the public. Members of the public may address the Board of Education on any specific agenda item during special time reserved for that purpose prior to Board discussion and action. The public may also address the Board of Education on any matter of concern at a second public session after the Board of Education completes agenda action items. Visitors should not address the Board in public relative to questions or comments regarding specific staff members or specific students. Such concerns should be brought to the attention of appropriate staff or to board members by telephone, in writing, or by scheduling a personal meeting, as appropriate to the circumstances

Visitors' comments will be limited to three (3) minutes for each agenda item upon which comment is made. Visitors are precluded from speaking on any agenda item more than once during each meeting.

Sincerely,

Your Board of Education

LONG BEACH PUBLIC SCHOOLS BOARD OF EDUCATION MEETING MONDAY, JUNE 8, 2020 ZOOM MEETING 4:00 PM

Join Zoom Meeting

https://us02web.zoom.us/j/84438489832?pwd=MEQ3ak90Mld3RHZMRkQrZVZXYXh5UT09

Meeting ID: 844 3848 9832

Password: 9sjNnd

AGENDA

REGULAR MEETING 4:00 PM

I. Pledge of Allegiance/Call to Order/Opening Remarks - School Board President

- II. Report of the Superintendent
 - Celebration of Retirees

	Yrs. of		
Name	Service	Position	Location
Linda Weiss	33	Spec Ed	LBMS
Nancy Josephs	30.5	Science teacher	LBMS
Leslie Blankopf	38	Elem teacher	West
Cheryi Carroll	29	Elem teacher	Lido
Lori Niloff	25	ENL	Lindell/Lido
Gwen Panoff	30	Elem teacher	LBMS
Maria Parada	34	Elem teacher	Lindell
Marilyn Pilo	32	Elem teacher	Lido
Jessica Vetter	29	English	LBMS
Faith Moskowitz	24	Elem Teacher	Lido
Gary Ribis	20	Science	LBHS
Lori Burrell	10	Nurse	West
Vincent Russo	18	Spec Ed Coord	LBMS

Deborah Lovrich	6	Science Dir	District
Richard Bogart	12	PT TA - Athletics	LBMS
Vinny Jacobs	32	Custodian	LBHS
Maureen Clarke	25	Full-time TA	Lindell
Maureen Creagh	28	Sec 2	ВО
Debra Gordon	21	Payroll	во
Carole Butler	10	District Clerk	Board
Suzanne Fenech	34	FT TA	Lindell
Elissa Probeyahn	32	Sr. Stenog (sec1)	Director
Yves-Lise Prunier	15	Bus Driver	Trans
Patricia Cody	18	Keybrd Spec	East
Susan Nagel	18	PT TA	LBMS
Kathy Casey	21	Sr. Typist	LBMS
Marianne Bruno	11	Bookkeeper	во
Mindy Bloom	14	PTTA	Lindell
John Mule	10	Head Custodian	West

- III. Board of Education Comments
- IV. Questions and Comments from the Public on Tonight's Agenda Only
- V. Student Organization Announcements
- VI. Presentation of the Treasurer's Report for April 2020
- VII. Approval of Minutes for Executive Session and Regular Meeting of May 12 and May 27, 2020
- VIII. Presentations of the Superintendent:
 - 1. Personnel Matters: Certificated Tenure
 - 2. Personnel Matters: Non Certificated
 - 3. Award of Bid
 - 4. Approval of Third-Party Administrator PMA
 - 5. Approval of Scholarship Monies
 - 6. Acceptance of Recommendations of the CSE/CPSE

- IX. Board of Education Comments- Additional New/Old Business- if any
- X. Questions and Comments from the Public
- XI. Announcements:
 - 1. Long Beach Classroom Teachers' Association
 - 2. Administrative, Supervisory and PPS Group
 - 3. LBSEA Long Beach School Employees' Association Group C
 - 4. Parent Teacher Association
- XII. Adjournment

RESOLUTIONS

BE IT RESOLVED THAT, upon the recommendation of the Superintendent of Schools, the Board of Education approves the following personnel actions.

I. CERTIFICATED PERSONNEL

(a) Resignations

Name: Beth Larsen

Assign./Loc. Full Time Teacher Assistant/Lido School

Effective Date: June 30, 2020 close of day

Comment: returns to part time teacher assistant position

Name: Ann Craft

Assign./Loc. Part Time Teacher Assistant/East School

Effective Date: June 30, 2020 close of day

*for the purpose of retirement

(b) Amended Appointment: Probationary Director of Science

Name: Cristie Tursi
Effective Date: June 22, 2020*

End Date: June 21, 2024
Tenure Date: June 22, 2024

*amended start date

(c) Appointment: Probationary English as a New Language Teacher

Name: Marisa Tyd*

Assign./Loc: Probationary ENL Teacher/LBHS

Certification: Initial English as a Second Language

Initial English Language Arts 7-12

Effective Date: September 1, 2020
End Date: August 31, 2024
Tenure Date: September 1, 2024

Tenure Area: ENL

Salary Classification: MA/Step 2 (\$71,464 per annum)-Subject to

negotiations

Reason: To meet a district need

*This individual must receive three (3) annual APPR composite ratings of Effective or Highly Effective, in at least three (3) of the preceding four (4) years and cannot have an APPR composite rating of Ineffective in the last year of his or her probationary appointment to be granted or considered for tenure.

(d) Appointment: Probationary Science Teacher

Name: Calie Yousha*

Assign./Loc: Probationary Science Teacher/LBHS
Certification: Professional Earth Science 7-12

Effective Date: September 1, 2020
End Date: August 31, 2023
Tenure Date: September 1, 2023**

Salary Classification: MA+40/Step 2 (\$76,817 per annum)-Subject to

negotiations

Tenure Area: Science

Reason: To replace Gary Ribis

**Credit for tenure in another NYS school district

*This individual must receive three (3) annual APPR composite ratings of Effective or Highly Effective, in at least three (3) of the preceding four (4) years and cannot have an APPR composite rating of ineffective in the last year of his or her probationary appointment to be granted or considered for tenure.

(e) Appointment: Probationary Elementary Teachers

Name: Kylee Golden*

Assign./Loc: Probationary Elementary Teacher/Lido School

Certification: Professional Childhood Education 1-6

Professional Students with Disabilities 1-6

Professional Educational Technology Specialist

Effective Date: September 1, 2020
End Date: August 31, 2024
Tenure Date: September 1, 2024

Tenure Area: Elementary

Salary Classification: MA+40/Step 2 (\$76,817 per annum)-Subject to

negotiations

Reason: To replace Cheryl Carroll

2. Name: Janine Riomao*

Assign./Loc: Probationary Elementary Teacher/Lido School

Certification: Professional Childhood Education 1-6

Professional Early Childhood Education B-2

Professional Literacy B-6

Effective Date: September 1, 2020
End Date: August 31, 2024
Tenure Date: September 1, 2024

Tenure Area: Elementary

Salary Classification: MA/Step 8 (\$90,226 per annum)-Subject to

negotiations

Reason: To replace Marilyn Pilo

*These individuals must receive three (3) annual APPR composite ratings of Effective or Highly Effective, in at least three (3) of the preceding four (4) years and cannot have an APPR composite rating of ineffective in the last year of his or her probationary appointment to be granted or considered for tenure.

(e) Appointment: Probationary Elementary Teachers continued:

3. Name:

Lauren Muscarella*

Assign./Loc:

Probationary Elementary Teacher/Lindell School

Certification:

Initial Childhood Education 1-6 (pending)

Initial Early Childhood Education B-2

Effective Date:

September 1, 2020

End Date:

August 31, 2024 September 1, 2024

Tenure Date: Tenure Area:

Elementary

Salary Classification:

MA/Step 1 (\$68,849 per annum)-Subject to negotiations

Reason:

To replace Maria Parada

*This individual must receive three (3) annual APPR composite ratings of Effective or Highly Effective, in at least three (3) of the preceding four (4) years and cannot have an APPR composite rating of Ineffective in the last year of his or her probationary appointment to be granted or considered for tenure.

(f) Appointment: Regular Substitute Mathematics Teacher

Name:

Kaysi Ward

Assign./Loc:

Regular Substitute Mathematics Teacher/LBMS

Certification:

Initial Mathematics 7-12

Salary Classification:

Initial Mathematics 5-6 extension MA/Step 4 (\$76,687 per annum)-Subject to negotiations

Effective Dates:

September 1, 2020-June 30, 2021 (or earlier at the district's

discretion)

Tenure Area:

Mathematics

Reason:

To replace Jillian Fernandez

(g) Appointment: Part Time Mathematics Teacher (.6)

Name:

Jennifer Papetti

Assign./Loc:

Part Time Mathematics Teacher (.6)/LBMS

Certification:

Professional Mathematics 7-12

Professional Students with Disabilities 7-12 Mathematics Professional Students with Disabilities 7-12 Generalist

Salary Classification:

.6 of MA/Step 2 (\$42,878 per annum)-Subject to

negotiations

Effective Dates:

September 1, 2020-June 30, 2021 (or earlier at the district's

discretion)

Reason:

Annual re-appointment

Michele Perkins

(h) Appointment: Extended School Year Program Summer 2020-Rate of Pay: \$61.54 per hoursubject to negotiations

Name Subject Special Education Lauren Andersen Special Education Leah Buffalino Christina Causi Special Education Thomas Gaynor Special Education Cindy LaPenna **Special Education** Melissa Megias Special Education Sean Miller Special Education Kristina Ryan Special Education Nicole Scorcia Special Education Special Education Megan Scully Jessica Thomson Special Education Stacey Durnan Social Worker Jeanine Sofield Remedial Reading Sherese Tronolone Remedial Reading Samantha Carson Speech and Hearing Handicapped Speech and Hearing Handicapped Gia Cody

(i) Appointment: Extended School Year Program Summer 2020- Teacher Assistants-Rate of Pay: According to contract-subject to negotiations-subject to student enrollment

Speech and Hearing Handicapped

Lori Angst Suzanna Maslioja Catherine Barron Runnie Myles Marisol Burgos Megan O'Connor Cathy Palmer Patricia Buschi Peggy Pierri Karolyn Cregan Kurt Ramnarine Nina Farina Christina Franceschini Madison Rudnitsky **Doris Tavernese Beverly Hasberry** Cari Howell Amy Teemer Robin Tobin Nyasia Hurd Beth Larsen Jennifer Vasaturo Mara Weintraub Kim Leone Franklyn Lopez Elizabeth Wisey Nicole Lynch

(j) Appointment: Summer Curriculum Writers-Rate of Pay \$40.87 per hour-subject to negotiations

Course	Hours	Teachers	
Math 6	20	Kate Coners Rob Maggio Grace Parisi	
Math 7	20	Jennifer McWilliams Kerri Rehnback Kaysi Ward	
Math 8	20	William Papetti Tara Mele	
Pre-Calculus	20	Stephanie Bragino	
Financial Math	20	Scott Stark Patricia Fallon	
IB Math Analysis & Approaches SL	20	Michelle D'Andrea	
IB Applications & Interpretations SL	20	Jenna Berto James Fiola	
HS Math/ENL	20	Michael Dotzler Flor West	
IB Design Technology	20	Eric Heck	
IB Sports Exercise & Health Science HL	40	Davis Tobia	
Science 7	20	Megan Kalner Cristina Bryan Mike Glasstein	
Science 8	20	Megan Kalner Cristina Bryan Mike Glasstein	
Living Environment (MS)	20	Megan Kalner Cristina Bryan	
Astronomy	20	Dan Vaeth	
Integrated Science (ENL)	40	Ashley Garry Tim Cabasino	
Living Environment A (ENL)	20	Ashley Garry Megan Grahlfs	
Reading 6	20	Lauren Calabrese Stacey Goodwin Jennifer Healey Stacy Mason Katelin Smith	

(j) Appointment: Summer Curriculum Writers-Rate of Pay \$40.87 per hour-subject to negotiations continued:

Reading 7	20	Lauren Calabrese Stacey Goodwin Jennifer Healey Stacy Mason Katelin Smith
Reading 8	20	Lauren Calabrese Stacey Goodwin Jennifer Healey Stacy Mason Katelin Smith
English 7	20	Lauren Behan Steven Bialick Walter Kramme
English 8	20	Nancy Connor Faithe Ferrante Dena Hopper
Exploring Writing Through Graphic Novels	40	Nancy Connor Michelle Frank
Writing to Debate	20	Steven Bialick
English 11R	20	Jeannie O'Shea Samantha Silverman
IB Language and Literature 2	20	Tamara Filloramo Toni Weiss
Social Studies 6	20	Melanie Scott
Social Studies 8	20	Jim Stankard
Social Studies 9	20	Richard Pellegrini
Social Studies 10	20	Robin Gonzalez
Race, Gender, & Politics	20	Diane Maier
US History	20	Lisa Casey
Theory of Knowledge 1	20	Tamara Filloramo
Theory of Knowledge 2	20	Christine Graham
HS World Language – Level 2	20	Arlys Digena
HS World Language – Level 3	20	Arlys Digena

(k) The following personnel are recommended to be employed in the New York State Education Department's funded Adult Education Programs and TASC Program dependent upon funding, funding requirements and satisfactory performance for 2020-2021-Grant Funded

CERTIFICATED

15. VanBergen, Evelyn

22.35

Instructional - Hourly

	NAME	PAY CODE	RATE PER HOUR	MAX HOURS	MUMIXAM
1.	Adler, M. Liba	I-6	36.05	564	20,332
2.	Hamilton, Justine	I-6	36.05	1420	51,191
3.	Edwards, Priscilla	I-5	33.27	420	13,937
4.	Peralta, June	I-6	36.05	430	15,501
5.	Lipnick, Paula	1-6	36.05	700	25,235
6.	Reilly, Patricia	I-5	33.27	900	29,943
7.	Torres, Elyzabeth	I-5	33.27	920	30,608
	Support Staff				
8.	Fyne, Kerry Ann	S-3	27.74	1170	32,456
9.	Hanna, Kristin	S-3	27.74	1280	35,507
10.	Coleman, Pamela	S-3	27.74	120	3,329
11.	Wright, Lisa	S-7	67,795 annu	alized	
	Substitutes				
12.	Gonzalez, Karen	22.35			
	Lerner, Lori	22.35			
14.	Salig, Lynn	22.35			

(I) Recommendation for Appointment on Tenure the staff members listed below are eligible for appointment on tenure in the area and on the date indicated. They have been found to be competent, efficient and satisfactory in their total professional performance.

Name Laina Beale	Tenure Area Mathematics	Date 9/1/2020
Brianna Carnevale	English as a New Language	9/1/2020
Seraphina D'Anna	School Psychologist	9/1/2020
Marissa Koller	Remedial Reading	9/1/2020
Blake Malizia	Business	9/1/2020
Ashley Robinson	Teacher Assistant	9/1/2020
Leigh Rynecki	Music	9/1/2020
Loren Wolfin	Science	9/1/2020
Shannon Ambury	Education of Children with Handicapping Conditions-General Special Education	10/1/2020
Dayna Obidienzo	Education of Children with Handicapping Conditions-General Special Education	11/1/2020

(a) Resignations

Name: Christopher Irwin

Assign./Loc. Groundskeeper/Buildings and Grounds

Effective Date: May 29, 2020 close of day

Comment: To take another position in the district

Name: Cody Zafran

Assign./Loc. Part Time Teacher Aide/LBMS Effective Date: June 15, 2020 close of day

(b) Leaves of Absence

Name: Steven Peppe

Assign./Loc. Cleaner/Lido/Middle School Complex

Effective Dates: July 1, 2020-June 30, 2021

Comment: To take another position in the district

Name: Steven Cason Assign./Loc. Cleaner/LBHS

Effective Dates: July 1, 2020-June 30, 2021

Comment: To take another position in the district

(c) Appointment: Probationary Library Clerk– 10 months

Name: Kimberly Wynne

Assign./Loc.: Probationary Library Clerk/LBHS

Effective Date: September 1, 2020 Probationary End Date: August 31, 2021

Salary Classification: \$27,062 per annum -Subject to negotiations

Grade/Step: Grade II/Step 1

Reason: To replace Jane Scully/Promulgation of civil service list

(d) Appointment: Probationary Data Specialist–10 months

Name: Laura Guendel

Assign./Loc.: Probationary Data Specialist/West School

Effective Date: September 1, 2020 Probationary End Date: August 31, 2021

Salary Classification: \$26,805 per annum -Subject to negotiations

Grade/Step: Grade I/Step 1

Reason: To replace Nicole Rosenberg

(e) Appointment: Permanent Contingent Account Clerk– 12 months

Name: Stephanie Fucile

Assign./Loc.: Permanent Contingent Account Clerk/Special Education

Office

Effective Date: July 1, 2020 Probationary End Date: June 30, 2021

Salary Classification: \$37,753 per annum -Subject to negotiations

Grade/Step: Grade III/Step 2

Reason: To replace Charlotte McColgan

(f) Appointment: Provisional Head Custodian

Name: Steven Peppe

Assign./Loc.: Provisional Head Custodian/West School

Effective Date: July 1, 2020

Salary Classification: \$57,345 per annum - Subject to negotiations

Grade/Step: Grade V/Step 1
Reason: To replace John Mule

(g) Appointment: Provisional Custodian-Nights

Name: Steven Cason

Assign./Loc.: Provisional Custodian-Nights/LBHS

Effective Date: July 1, 2020

Salary Classification: \$65,091 per annum -Subject to negotiations

Grade/Step: Grade III/Step 16

Reason: To replace Edward Gennusa

(h) Appointment: Cleaner– Nights

Name: Christopher Irwin

Assign./Loc.: Cleaner-Nights/Lido/Middle School Complex

Effective Date: June 1, 2020

Salary Classification: \$70,344 per annum -Subject to negotiations

Grade/Step: Grade I/Step 28

Reason: To replace Michael Sacks

II. **NON-CERTIFICATED PERSONNEL**

(i) Appointment: Extended School Year Program Summer 2020-Rate of Pay: \$61.54 per hoursubject to negotiations

<u>Name</u> **Position**

Jennifer Buonocore Occupational Therapist Laura Ragona Occupational Therapist Renee Cieleski **Physical Therapist**

Appointment: Food Service Workers for Summer 2020-Rate according to Group C (i) contract-as needed

Eugenia Atsalis Maureen Jansen Maria Kavathas Michele Causi Dragoslav Karadzic Karen Martin Devika Ramjattan Caren Risken **Todd Wright** Maria Umana Danielle Coleman Mayela Sibrian Carmen Saravia Bernadette Ciccarello

Maureen Butler Mary O'Farrell

Marie Tillus

(k) The following personnel are recommended to be employed in the New York State Education Department's funded Adult Education Programs and TASC Program dependent upon funding, funding requirements and satisfactory performance for 2020-2021-Grant Funded

NON-CERTIFICATED

		PAY	RATE	MAX	
	NAME	CODE	PER HOUR	HOURS	MUMIXAM
	Aides				
1.	Drake, Tara	A-5	18.12	270	4,892
2.	Guandique, Aracely	A-7	21.37	430	9,189
3.	Umanzor, Anna	A-4	17.14	400	6,856
	Clerical				
4.	Aviles, Diana	C-4	1 <i>7.</i> 14	270	4,628
5.	Ferrer, Gloria	C-8	23.29	1680	39,127
6.	Flete, Elbania	C-5	19.62	1125	22,073
7.	LaBoy, Lisette	C-8	23.29	576	13,415
8.	Tedesco, Gloria	C-7	21.37	225	4,808
	Janitorial - Hourly				
9.	Munoz, Fabio	J-7	21.37	1680	35,902
10.	Pinchasin, Amos	J-7	21.37	500	10,685

(I) Completion of Probationary Appointments

The staff member listed below has completed their probationary appointment and have received a satisfactory evaluation and is hereby recommended for permanent appointment.

Name: Brendan Scully

Assign./Loc.: Assistant Supervisor of Maintenance/Districtwide

Effective Date: July 1, 2020

Name: Linda Papetti

Assign./Loc.: Secretary I/Lido School

Effective Date: July 1, 2020

Name: Judy Fishman

Assign./Loc.: Secretary I/Transportation Department

Effective Date: July 1, 2020

Name: Nicole Rosenberg

Assign./Loc.: Data Specialist/West School

Effective Date: September 1, 2020

3. AWARD OF BID - #1932-2019 GENERAL PUMP MOTOR REPAIRS AND MAINTENANCE

WHEREAS, the Board of Education of the Long Beach City School District solicited bids for general pump motor repairs and maintenance and received the following bids in response thereto:

IVS, Inc \$35.00hr/10% markup – AWARDED BID

Advanced Pump, Motor & Controls, Inc

Pump & Motor Shop

\$4

A&M Pump & Motor Repair, Inc

\$52

\$44.75hr/10% markup \$45.00hr/10% markup \$52.00hr/15% markup

WHEREAS, upon review and consideration of each of the foregoing bids, and based on the recommendation of the Assistant Superintendent for Finance and Operations, the Board has determined that IVS, Inc. is the lowest responsible bidder meeting the bid specifications; now, therefore,

BE IT RESOLVED that the Board of Education hereby awards said contract to IVS, Inc. as the lowest responsible bidder meeting the bid specifications pursuant to Section 103 of the General Municipal Law, and hereby authorizes the Assistant Superintendent for Finance and Operations to execute said contract on behalf of the Board, in accordance with the bid specifications.

4. APPROVAL OF PMA MANAGEMENT CORPORATION AS THIRD PARTY ADMINISTRATORS

WHEREAS, the Long Beach City School District ("District") desires to enter into an agreement with PMA Companies ("PMA") to serve as the District's third-party administrator for workers' compensation effective June 1, 2020;

BE IT RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education approves the agreement with PMA to serve as the District's third-party administrator for worker's compensation effective June 1, 2020;

BE IT FURTHER RESOLVED, that the Board of Education hereby authorizes the District Assistant Superintendent for Finance and Operations to execute the agreement with PMA on its behalf.

5. APPROVAL OF SCHOLARSHIPS - LONG BEACH HIGH SCHOOL

BE IT RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education approves the distribution of funds for the announced Long Beach High School scholarships in the amount of \$106,025.

6. ACCEPTANCE OF RECOMMENDATIONS OF THE COMMITTEE ON SPECIAL EDUCATION AND COMMITTEE ON PRE-SCHOOL SPECIAL EDUCATION

